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SUZ| A1 IHE 0] 0, . _ B | — | = | 33.725533 | 130.661675
SOlEEE A [ o3l ses [Azs | < T.75] 1.50]  2.63] S62] S5 |59 7 e 0.71KW x1 | 11 |78 | 1 [AM [#E | =M | 33.728376 | 130. 654667
T 2t ST = S N . R T i B e - BR s 0 0
06| EFEBHEAbEE RIBJI| | % | 11415 H18.5 | — FG ] TN T - e e o 0 s
E - 20 1. . _ e — | =M | 33.732424 | 130. 644398
300 BEHKIEE e T2 Tl 0 T = Trorsn T ool ol ol m [l e e e e P e N R A R
310[EMHEARRE PRI % | 0.065] $63.2 | — FG 0.60] 0.60] _0.36] 562 e e R
7 . . 60| 0. . SUS 7 =

LR, _ L — | = [ 33.723906 | 130.666539
312;%?& ﬁﬁf” E s T T 0.80; 0.801 0.81 19 L 85 1ov 7 2 |F® OFL X1 | W 5U5 [ 1 [ |TXTA| 2 | 33.723997 | 130. 665815
313 [ B HE AR AR | & | 0.420] Hl6.3 | — Eg RN S KR ETT T e L e e RN
314[REE 3 HKE  [/VRIII| & | 1.130] S62.3 | W23 | SG BT e T e e R B T T = LR
316[mEsE 2 JokbeE [ /KL A | 2.745] H2.3 | — FG O R T N TS = s e i B - BT RE1
i A . - 600, . T [k | — | = | 33.705031 | 130.656172
RSk - - 28] _ . — | =F | 33.723939 | 130. 665909
IHESSEE ST 0 T 060 060036567 55 1557 T |78 |Ubh_ x1 | S62|SU% | 1 B8 | - | =M | 33.723507 | 130.664809
320/ EERE 2 HEKE AR £ | 1.050] R5.3 | — FG ol e M T . e e e R e
2 e 3T - 900, . _ 1[5tz | — | =@ | 33.718426 | 130.66169]
1 1 A e L0 L0 Loser 5 1552 2 |78 [UFh_ x1 |62 |SU5 | 1 B8 | _— | =M | 33.716074 | 130.658563
33| BEE S BKE  [/VRWI| % | 2.875 W23 | - FG X TR T
523/ ST 5 3 K A - 000, . _ — — | = | 33.704010 | 130.655389
2 _ﬂgggigg %\%” g ?Zzg Eﬁgg - RG 2.50( 2.50]  6.25/ S48 ] SS [Swo 3 [Ty | 40psx1 |48 [EE | 1 [E&L — | &% | 33.633316 | 130. 683668

. . RG .75 1.50] _ 2.63| HI7] S5 |59 2 2 [BEEM | 0.2k <1 | W7 BE | 1 |8 | — | &% | 33.631332 | 130.679889
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326| RIAE—HEE Bl | B | 2.705] S61.12 — SG 1.20] 1.20 1.441 S61 | SS [TV 2 _|FH IR X1 | S61 |EE 1 |EE - BRIE | 33.620972 | 130.675104
327 |FKHRSE 2 HEZKHEE BRI | A | 2.955| HA.T - SG 2.00] 1.75 3.50[ H4 | SS [SvD 4 |=EE ? X1 | H4 |8 1 |EE - BRIE | 33.618750 | 130.675297
328|FanHKbEE BRI | /& | 5.850] S55.3 | H2.3 SG 1.00{ 1.50 1.50/ S54 | SS [SvD 2 _|FH DMV X1 | H1 |78 1 0? ? BRIF | 33.595549 | 130.667191
329 |BREESF) | HEKAEPT gl | Z£ | 1.300] H18.3 - RG 5.45| 4.30 23.44| H17 | SS |f1-J 15 [EE 1.4KW X3 | H17 |F&H 3 |F5H - BRIF | 33.633104 | 130.679688
330|BAEF) IHkigisHIk T — b | R | Z | 1.300] H18.3 - RG 5.45| 4.30 23.44| H17 | SS |f1-J 15 [E® 1.4KW <1 | H17 |FaH 1 |PaHE — BRIZ | 33.633307 | 130.679349
331 |mEsligkigs N xxs— | BRI | A | 1.300] H18.3 - SG 2.60] 2.50 6.50[ H17 [ SUS [ v D 3 [EBH(EA) [ 0.3KW x1 | HI7 [FAH 1 |PaH - BRIZ | 33.633085 | 130.679133
332\ ERHKEEE gl | Z | 1.860] S61.3 - SG 1.20 1.20 1.44] S60 | SS [SvD 2 _|FH IR X1 | S60 |FE5H 1 |PaHE — BRIZ | 33.628554 | 130. 676080
333| &K bR Rl | &2 | 2.3200 7 H23.3 SG 2.35| 2.50 5.88 7 [ SS [TvD 5.5 [EH 0. 75KW X2 | S62 [ZH 2 |7 SVY | BRF | 33.624756 | 130. 674173
334|353 5E —BEKHEFT ORIl | £ | 2.480| S60.3 | H26.1 RG 3.00] 2.00 6.00{ S5 [ SS [ZvD 3 [EEH(EA) [ 0.28KW X1 | H25 [EH 1 [EVY [H=E BRIE | 33.623087 | 130.674101
335| RRAAFRHEK AR BRIl | 7= | 2.500] H24.3 - SG 1.50 1.25 1.88| H23 | SS [SvD 2 |EENEEAM) | 0.2KW X1 | H23 [SVH | 1 |=SVY — BRIZ | 33.622880 | 130.674108
336 | XK HKEEE BRIl | £ | 2.900] S57.12 — SG 0.80] 0.80 0.64 S57 [ SS [SvD 1 [FE Vevd X1 | BT |EVH | 1 |[H\K — BRIZ | 33.619145 | 130. 674373
337) %5 1 HktEE BRIl | £ | 3.420{ S61.3 | H22.3 RG 2.20) 2.00 4.40] S60 | SS |V 3 [EH 0.2KW x2 | H21 |#7##0 2 _|=VY |t BRIX | 33.614541 | 130. 675047
338| REBALEE 3 BEKAEE gl | £ | 4.660] S61.3 | H16.3 SG 1.70{ 1.80 3.06[ S60 [ SS [SvD b |EH 0.4KW X1 [ HI5 [SVH | 1 |ZSVH K BRIF | 33.604523 | 130.674244
339| REBALHEKIEE FEORII | 7= | 5.150| S46.3 | S63.3 SG 1.24] 1.25 1.55/ S45 | SS [P 2 _|FH WML X1 | S62 |SVH | 1 [? SVY | BRF | 33.601674 | 130. 670348
340| ETTHIKEEE ORI | A2 | 5.785| S56.3 - RG 2.25| 2.25 5.06] S55 | SS |Zwv Y 2 |TI2 4.5PS X1 | S55 |&E 1 |EH - BRIR | 33.596702 | 130. 667002
341 TIREE 1 BEKAEE EWl | & | 0.495] R3.5 — FG 1.00{ 1.00 1.00f R3 | SUS 1 |KSK — E7% | 33.739898 | 130.733590
342 | T1R5E 2 HIktEE ZWl | & | 0.895] R3.5 — FG(\" 3V3) 2.00] 2.00 4.00] R3 | SUS 1 [BERK — E7% | 33.736032 | 130.733420
343 SR KRS EWIN [ & | 4.115] $59.3 | HI17.3 SG 1.50[ 1.50 2.25{ S58 | §S |DwvY 3 [EBH(EA) [ 0.28KW X1 | HI6 [SV4 | 1 |BARR  |#EA E7% | 33.716854 | 130. 757757
344 SRR 2 BEKAEE EWI | & | 4.672] H15.3 — RG 2.25| 2.50 5.63| H14 | SS |Dwv7D 4 |EE 0.39KW X1 [ H14 [SVH | 1 [#i)¢ - BE7% | 33.712856 | 130.762770
345 L EBEKIEE EWl | & | 5.185] S61.3 — RG 3.000 2.75 8.25| 560 [ SS |SwvD 6 |[TVIY 3.5PS X1 [ S60 [SV% | 1 |PAAR - E7% | 33.710425 | 130.767616
346| EEFHEE EWI | & | 5.405] S56.3 | H20.3 SG 1.25[ 1.05 1.31{ S55 | 8§ [Dwvo 2 |FH IRV X1 | H19 |FaH T0? Elea E7% | 33.708212 | 130.768846
34T IIEHEKEEE EWI | & | 5.925 S54.3 | H3.3 RG 2.25| 1.75 3.94[ 53 | SS [SvD 3 |1 TVIY |7 X1 | H2 [P5H 1 1? PaH E7% | 33.703101 | 130. 769637
348 3EHEKAEE EWI | & | 6.955] $48.3 [ H15.1 RG 2.50] 2.00 5.00{ HIT | SS |ZwvZD 3 [EBH(EA) [ 0.28KW X1 | HI4 [SVH | 1 |SVH [HER BE7 | 33.694535 | 130.775299
349 |FHEEE 2 HEKAEE EWN | & | 7.420] H.3 — RG 2.00 2.00 4.00) S63 [ SS |5wv D 3 |TVIY 3.0PS X1 | S63 |#7##0 1 [B9F - HJI | 33.690485 | 130. 776690
350|Fimk 1 SHEKAEE EWIN [ & | 7.75] S47.3 | H13.3 SG 0.90f 0.90 0.81] 546 | SS |V 1 |F& WML X1 | H SV | 1 [? 10 I | 33.687931 | 130. 777491
351 | B —HEKAEE W | & | 7.875] H23.3 — FG 0.60{ 0.60 0.36] H22 | SUS 1 [fBax - HI | 33.686842 | 130. 778370
352|7545E 2 HEKAEE EWl | & | 7.955] H23.3 — FG 2.00] 2.00 4.00] H22 | SUS 1 [Bx - B | 33.686617 | 130.779181
353|718i56 5 HktEE ZWIl | & [ 9.185 H16.3 — RG 1.50[ 1.50 2.25| H15 | &S |Dv7D 2 |&EE 0.2KW X1 | H15 |70 1[5 - EJI | 33.680106 | 130.788095
354| A HKEEE EWl | & | 9.384] HI8.5 — SG 1.50[ 1.50 2.25| H18 | &S |Dwv7D 2 |&EF 0.2KW X1 [ HI8 [SV% | 1 |=IV% - HJI | 33.678390 [ 130. 787654
355 | ZEHFKEERT EWI | & [10.265] $48.3 | HI.3 RG 2.50] 2.50 6.25| S47| SS |SvY 3 |[TOIY 3.0PS X2 | S63 [& 2Bl [k HJI | 33.673385 | 130.794698
356 K EHEKAEE EWI | & |13.220] $52.11 | R6.3 SG 1.40[ 1.70 2.38] $52 | §S |ZwvY 3 |FE WML x1 | RS [SVH | 1 |#L [SVH | B | 33.650502 | 130.810677
35T|FHEESE 1 R EWI [ & |13.700 H27.3 - MUy -k 1.00] 1.00 1.00f H26 | SUS 1 |FERK - H)II | 33.647289 | 130. 814647
358|)113m%6 1 HEKAEE EWI | & |13.720] S63.2 — FG 0.30f 0.30 0.09] S62 | SUS 1 [SV¥ — BRI [ 33.647257 | 130. 814677
359 11556 2 HEKEE EWl | & [13.760] HI.3 - SG 1.00{ 0.70 0.70{ Se3 | SS |Zv¥ 1 |F& IOV X1 | S63 |t7#0 1 |89 - B | 33.646950 | 130.815110
360|[FEAEFE 2 kEf ZWl | & | 13.800{ H27.3 — MYy -h 3.00] 1.49 4.47] H26 | SUS 1 |FERK — B | 33.646676 | 130.815468
361 |fFHEBEFES 3 kA EWI | & | 13.875] H27.3 - MI7 5 -k 1.00] 1.10 1.10] H26 | SUS 1 |FERK - H)II | 33.646259 | 130.816033
36211556 3 BEKAEE EWl | & |13.880] S63.2 — SG 1.41 1.50 2.12| 562 | SS |ZvY 2 _|FF IRV X2 | S62 |t##0 2 WS - HI | 33.646179 | 130.816155
363|FHEESE 4 R EWIl | & |13.920] H7.11 | H24.3 | 227" 4" -k 1.20] 0.70 0.84] HT | SS 1 [ [###0 H)II | 33.645984 | 130. 816473
304| B EB_LRA FER] EWIl | & | 14.050] H16.3 | H24.3 | 227" 4" -+ 4.70[ 0.76 3.57| H15 | SS 1 (&R [ EJII [ 33.645353 | 130. 817677
365 |KetERERA M ER EW | & | 14.200] S61.3 - | #EIT—hk 6.20] 0.54 3.35) S60 | SS [ -57"M91F| 0.3 |F&h IOV X1 | S60 |EX 1 |XH - EUIL | 33.644931 | 130.819074
366 HEHTSE 1 HEKEEE EWI | & | 14.445| R4.3 — FG 0.30f 0.30 0.09] R3 | SUS 1[50 - I | 33.643811 | 130. 821472
367 HERT S 3 HEKbEE EWI | & | 14.670] S63.2 — SG 0.30f 0.30 0.09] S62 | SS |ZvY 1 |F& IRV X1 | S62 |t##0 1 WS - I | 33.642308 | 130.823120
368 | EIZHEE EWI | & | 14.770] H11.6 — RG 2.50] 2.25 5.63| HIT | SS |ZwvY 3 & 0.28KW x1 | H1T |2 1 |== - H)I | 33.641726 | 130.823789
369|FHEBEESE 1 O R EWI | & | 14.775] H11.6 — [#81U—b| 1.20] 0.83 1.00f H1T | SS 1 |&= - HI | 33.641666 | 130.823865
370|555 1 HkEEE EWI | & | 14.840] H28.5 - FG(ALI) $0.30 0.07) H28 | SUS 1T [BKAE  — EUIL | 33.641220 | 130. 824388
3T | EHKEEE EWI | & [14.935] S54.2 - SG 0.30f 0.30 0.09] 53 | 8§ |Zwv7o 1 |F& WMV X1 ]S63 |2V | 1 [#El — EJII | 33.640631 | 130.825110
372|556 3 HktEE EWl | & | 15.085] S63.2 — SG 0.30f 0.30 0.09] S62 | SS |ZvY 1 |F& IRV X1 | S62 |t7#0 1 WS - HJI | 33.640002 | 130. 826456
313|155 4 BEKAEE EWl | & | 15.375] S$63.2 — SG 0.60{ 0.60 0.36] S62 | SS |ZwvY 1 |F& IRV X1 | S62 |t##0 1S - I | 33.639277 [ 130.829274
T4 E FHEKAEE EWl | & | 15.565] H4.3 — RG 2.50] 2.25 5.63| H3 | §S |Zwv¥ b |&E 0.43KW X1 | H3 [SVH | 1 [#i)¢ - I | 33.638383 | 130.831215
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375 RSB —HEKAEE ZWN | & | 15.700[ H1.7 — RG 3.50 3.70 12.95[ H1 SS 12wy 7.5 ([Z2YY 5.0PS x2 | H1 |75H 2 |PeH — ==110 33.637737 | 130. 832365
376|) 1R 5E — SHEKAEE ZWN | & | 16.050] S61.3 — SG 0.90 0.90 0.81 S60 | SS |Zwvo 1 |ZF& VR LE x1 | S60 |{#F0 1 [0 — =211 33.634790 | 130. 835093
3T FSEE—HEKNEE ZWN | & | 16.635] H31.3 — FG 2.00 2.00 4.00] H30 | SUS 1 [i#%#0 — =)0 33.630428 | 130. 838278
18| FSEHEKNES EZWNl | & | 16.950] H31.3 — FG 2.00 2.00 4.00] H30 | SUS 1 [i#%#0 — =)0 33.628696 | 130.841194
39| SEHEKEEE EWl | & | 18.255] S61.12 — SG 1.70 1.70 2.89] S61 | SS |Z5wvo 3 |FH R X1 | S61 |PF5HE 1 | — /Il 33.619063 | 130. 849094
380 ESEHEKNES EZWNl | & | 18.582| S63.2 — SG 1.50 1.70 2.551 562 | SS |Z5w o 3 |FH R x1 | S62 |1##0 1 [#%#0 — =211 33.616277 | 130. 848491
381|#HESE 1 PEKEEE ZWIN | & | 19.425 S61.3 | H12.3 SG 1.70 1. 60 2.721 S60 | SS [Zwo 5 |& 0.71KW X1 | H11 |7AHH 1 |FaH [ii] =2 ==110 33.610050 | 130. 853228
382|¥BHEEE 2 HEKEEE ZWIN | & | 20.140] S58.12 — FG 0.95 0.85 0.81] S58 | SS 1 |#& — )| 33.603572 | 130.854717
383| K1TEEE 2 HEKNEE ZWIN | & | 20.810] S63.2 — FG(1) 0.30 0.30 0.09] S62 | SUS 1 [i#%#0 — =)0 33.597807 | 130. 856985
384 |1BHLEE EZWNl | & | 20.910] S61.3 — SG 1.00 1.08 1.08f S60 [ SS [Zwvo 2 |F&E R x1 | S60 |P5HE 1 |P5HE — =111 33.596900 | 130. 856867
385 |{PEEE 1 HEKERES EWN | & | 21.545 S48.3 | S61.3 RG 2.50 2.00 5.001 S47 | SS [Zwvo 4 (T2 4.5PS X1 | S60 |=VJ% A EVEASYERRE:N 33.590900 | 130. 856434
386 |{REEE 2 HEKEEE EZWl | & | 21.660] S50.11 — RG 2.50 2.50 6.25| S50 | SS [Zwo 3 |[Tovy 4.0PS x1 | S50 |P5H 1 |#& — =211 33.590402 | 130. 855325
387|& 7 BHEKIEE EZWN | & | 22.275| S$63.2 - SG 1.12 1.31 1.47)1 S62 | SS |Z2wv o 2 |F&E MR x1 | S62 |1##0 1 [#%#0 — =210 33.587741 | 130. 848880
388|EHAESE 1 HIKNEE EZWN | & | 23.690] S63.2 — FG(18) 0.80 0.80 0. 64| S62 | SUS 1 %0 — ==)10 33.578835 | 130. 848862
389 | = SR 2 HEKAEE ZWN | & | 23.835| S$63.2 — FG(1) 0.50 0.50 0.25| S62 | SUS 1 [#%#0 — =)0 33.577922 | 130. 849751
390| = aESE 1 HEKEEE EZWNl | & | 24.500] H4.3 — SG 2.00 2.00 4,000 H3 | SS |Z5w o 4 |EEH(Y-7-) 0. 4kKW x1 H3 |P5H 1 |P5HE — =)0 33.572643 | 130. 853196
391|FESE 1 BERA ZIWI | & | 24.500] H4.3 — el —k 2.00 0.75 1.50]1 H3 | SS 1 |P5HE — Al 33.572611 | 130.853199
392 |FESE 2 BERA EZWNl | & | 24.700] H2.3 — MUY - 4.00 0.50 2.00] H1 SS I EVES — =211 33.571290 | 130. 851945
393|FESE 3 BERA ZWIl | & | 24.865] H2.3 — #elT— bk 2.00 0.80 1.60( H1 SS 1 |FaH — =210 33.570073 | 130.851821
394 |FEER X A T FERT EZWIN | & | 25.040[ H7. 1 — MY = 0.90 0. 86 0.77 HT | SS 1 [#aK — )| 33.568694 | 130. 852192
395|FESE 4 BERA ZIWI | & | 25.080 ? — MUY=} 1.00 0.95 0.95| 7 SS 1 [? — =)0 33.568205 | 130. 852418
396 | FEMIX 5 1E kRS EWNl | & | 25.180] H7.11 — M- 0.90 0.86 0.77f HT | SS 1 [ — =111 33.567670 | 130.852724
397|EEHEKEES EW | & | 25.945| H24.2 — FG 0. 60 0.60 0.36] H23 | SUS 1 [#%#0 — =11 33.561819 | 130. 855604
398 |EFFHHEKARE EWIl | & | 26.455| H1.3 H13. 3 SG 1.50 1.50 2.25[ S63 | SS |Z5wvo 3 |EE 0.28KW x1 | H12 |=V#% 1 [83H K =201 33.559994 | 130. 860709
399|EFEPEK—AEE EZWl | & | 26.890] R2.5 — FG 0. 60 0. 60 0.36] R2 | SUS 1 [#%#0 — =210 33.556217 | 130. 862341
A00|BFHEEEK —_SHEE ZWN | & | 27.055 S61.3 — SG 0. 60 0. 60 0.36] S60 | SS [Zwvo 1 |FE MR x1 | S60 |PF5HE 1 |P5HE — =)0 33.554383 | 130. 862165
401 |BFHE 3 SHEKEEE EZWN | & | 27.200] H11.3 - J0-7429° G 1.40 1.60 2.24| H10 | SUS [HE 2 |F&E x1 | H10 |1%#0 1 [#%#0 — =111 33.553388 | 130.861523
402|IXH 2 SHEKREE EZWN | & | 27.690] H2.3 H20. 3 SG 1.50 1.50 0. 64| H1 SS 12wy 2 |EEEAD) 0.6KW x1 | H19 |7EER 1 [#K 2alas! ==0]11 33.549681 | 130. 861558
403 | HEEHE KRS EWN | & | 27.940 S48.2 | H22.3 SG 1.25 1.25 1.56| H21 | SS |2V o 2 |F&E R x1 | S62 |=VJ4H 1 1?7 =4 | #ll 33.547307 | 130. 860943
A0A|IREEE 1 HEKEEE EZWNl | & | 28.405| H31.3 — FG 2.00 1.50 3.00( H30 | SUS 1 [i##0 — =210 33.543247 | 130. 861767
A05|IRBEFESE 4 HEKBEE ZWIN | & | 28.485 S58.3 | H19.6 SG 1.00 1.00 1.00f S57 | SS [Zwvo 2 |EBENEEST) | 0.28KW X1 | H19 |FR# 1 |#& BBk )| 33.542605 | 130. 862162
A06|[KEZE 2 HEKEEE Zll A | 28.640| R2.5 — FG 1.25 1.25 1.56] R2 [ SUS 1 [#%#0 — =211 33.541162 | 130. 862410
A07|IREEE 3 HEKEEE EZW | & | 29.030] S51.5 | S63.1 SG 2.50 1.50 3.751 S51 | SS [Zwo 4 (T2 3.0PS x1 | S62 |=J4H 1 [? SRR 33.538670 | 130. 864057
A08| AR HEKEEE EZW | & | 29.800[ S55.2 | H13.3 SG 1.50 1.50 2.251 S54 | SS [Zw o 2 |F&E VI x1 | S62 |& 1 [#L AR =)0 33.532585 | 130. 863669
A09|AKISE 1 HEKBEE EZWN | & [ 29.920] H1.3 H13.3 SG 1.00 1.00 1.00{ S63 | SS [Zwvo I E=2 R x1 | H12 |& IREE AH =)0 33.531808 | 130.863010
A 0| AHEE 2 HEKEEE EZWNl | & | 30.180] S63.3 — SG 0.90 0.90 0.811 S62 | SS [Zwo 1 |8 R x1 | S62 |1##0 1 |85 — )| 33.529854 | 130. 863377
A |BIRSE 3 HEKEEE EZWN | &£ 0.832| R3.5 — FG 1.00 1.00 1.00] R3 [ SUS 1 |KSK — B7 | 33.736925 | 130.731304
42| FIEREE ZWN | & 1.015] R3.5 — FG 1.00 1.00 1.001 R3 [ SUS 1 |KSK — BEA | 33.735032 | 130.731515
A3|BIESE 4 HEKEEE s 1.140] R3.5 — FG 1.00 1.00 1.001 R3 [ SUS 1 |KSK — B2 | 33.733976 | 130.731860
ANABIESE S HEKAEE = 1.215] R3.5 — FG 1.00 1.00 1.001 R3 [ SUS 1 |KSK — B | 33.733388 | 130.732222
A5 |BIESE 6 HEKHEE EW | & 1.325| S63.2 — SG 0.45 0.45 0.20] S62 | SS |Zwv o 1 |ZF& MR I X1 | S62 |=VJ4H 1 |HAHB — B2 | 33.732015 | 130.732826
A163REASE 1 HEKEE EZW | £ 1.655] S61.12 — SG 0. 60 0.80 0.48| S61 | SS [Zwvo IES2 MR X1 | S61 |FaHE 1 |7FAH — B | 33.729004 | 130.734353
ATI=EE 2 HEKEEE ZWN | & 1.806] S61.3 — SG 0. 60 0. 60 0.36] S60 | SS |Zwv o 1 |ZF& MR x1 | S60 |F5HE 1 |E — BA | 33.727673 | 130.735188
418 |) limHEKAEFT ZWN | &£ 2.000( S61.3 — RG 2.00 1.70 3.40[ S60 | SS |RERIL 7 |EE 1.5KW x2 | S60 |F5ER 2 | — BA | 33.726277 | 130. 737157
A9|) 1 imHEE KBRS ZW | &£ 2. 055 S$60.6 — RG 2.00 2.00 4.00]1 S60 | SS |RERIV 7 |EE 1.5KW x1 | S60 |F5ER 1 |#FH — BEA | 33.726146 | 130. 737410
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528 | EHIHEKEEE === 11 = 0.480| H5.3 SG 1.50 1.50 2.25| H4 | SS [Zw D B (Y-7-) 0. 3KW x1 H4 |PH 1 |FaH ==110 33.688096 | 130. 772450
529(mEE | £ 0. 750 ? FG ? ? 1 7 | SUS 1 |? )| 33.686084 | 130.771177
530(ER Bl £ 0. 845 ? FG ? ? 1 7 | SUS 1 [? ==711 33. 685645 | 130. 770856
531| A RIRHEKEES === 1T = 0.980| S61.3 SG 1.80 1.80 3.241 S60 | SS |Zow o 3 | I 3.0PS X1 H1 [1#%#0 1 |1=2V% =011 33.684381 | 130. 769506
532 | HIEHE KRS Bl £ 1.235 ? SG 1.80 1.80 3.24) 7 SS 12wy 4 |&E 0.39KkW x1 | H12 [=V% 1 [#L =)0 33.681782 | 130. 770000
533|#IEES 2 HEKERE gl £ 1.462| H2.3 SG 1.00 1.00 1.00( H1 SS 12wy IES2 MR X1 Hl |ZV% 1 |#& =211 33.680430 | 130.772106
h34|tEA 1 SHEKEEE === 11| = 2.015] S61.3 SG 0. 60 0. 60 0.36] S60 | SS |Zwvo 1 |ZF& Ik x1 | S60 |=JH I EVES )| 33.677992 | 130. 775934
535|181, 2 SHEKEEE fmFl| £ 2.171] S61.3 SG 0. 60 0. 60 0.36] S60 | SS |Zwv o 1 |F& Ik x1 | S60 |=VJH I EVES )| 33.676663 | 130. 776560
h36[IEMAPEKEEE | £ 2.300 ? SG 0. 60 0. 60 0.36] 7 SS [Zwvo 1 |ZF& R X1 7 |7FAH 1 [? =)0 33.675412 | 130. 777116
h3T|{EAHEKEEE === 1T = 2.450] R2.5 FG 1.20 1.20 1.44] R2 | SUS 1 [i#%#0 =111 33.674312 | 130. 777510
538|4{EHLEE 5 HEKEEE Bl £ 2.575] S62.1 SG 0. 60 0. 60 0.36] S61 | SS |Z5wvo 1 |ZF& MR x1 | S61 |1#F0 1 [0 ==110 33.673214 | 130. 777645
539 | EREKIEE === 11 = 2.685| S61.3 SG 1.00 1.00 1.00] S60 [ SS |Zwv o 2 |F&E MR x1 | H12 |1EF 1 [#aK =211 33.672250 | 130. 777757
540|32HEEE 1 SHEKEEES === 11 = 3.005| S46.3 SG 1.10 1.10 1.211 S45 | SS |Z5wv o 3 |FH MR x1 | H10 |1EF 1 |? )| 33.669453 | 130. 779042
541 |F8H%E 2 SHE KRS fmFl| £ 3.110] S61.3 SG 0. 60 0. 60 0.36] S60 | SS |Zwvo 1 |F& VIR LE x1 | S60 |{#F0 1 |#& )| 33.668584 | 130. 779495
542 |FHE 3 SHEKNEE Tl £ 3.210| S61.3 SG 0. 60 0. 60 0.36] S60 | SS |Zwvo 1 |F& VIR L x1 | S60 |=VJH 1 |1=2V% =011 33.667693 | 130. 779969
h43[FTREHEKEEE === 1T = 3.510| S47.2 SG 1.75 1.76 3.08] S46 | SS |ow o 3 |\ TIY 3.0PS x1 | S62 |=VJ% 1 [? =011 33.665266 | 130.781215
544 (&R === 11 = 4,275 ? ESFG 0.30 0.30 0.09] H18 | SUS 1 |? )| 33.658339 | 130. 783813
545 (&R === 11 = 4.300 ? ESFG 0.30 0.30 0.09] H18 | SUS 1 |? )| 33.658173 | 130.783916
546 |REE BTl £ 4.320 ? ESFG 0.30 0.30 0.09] H18 | SUS 1 [? =)0 33.657881 | 130. 784051
547(RER | £ 4.340 ? ESFG 0.30 0.30 0.09] H18 | SUS 1 [? =011 33.657711 | 130. 784130
548 [RER Bl £ 4. 355 ? ESFG 0.20 0.20 0. 04| H18 | SUS 1 [? =011 33.657634 | 130. 784189
549 (RER Bl £ 4.370 ? EZFG 0.20 0.20 0. 04| H18 | SUS 1 [? =011 33.657617 | 130.784202
550 |KER FFll| £ 4.380 ? EZFG 0.20 0.20 0. 04| H1T7 | SUS 1 [? =011 33.657543 | 130.784293
551|HIo3FEE 1 HEKNEE === 11 = 4,395 ? ESFG 0.20 0.20 0. 04| H18 | SUS 1 |? )| 33.657426 | 130.784332
552 |REE === 11 = 4.410 ? ESFG 0.30 0.30 0.09] H18 | SUS 1 |? )| 33.657292 | 130. 784373
553[EER dmFl| £ 4. 450 ? ESFG 0.30 0.30 0.09] H18 | SUS 1 |? )| 33.656988 | 130. 784448
554 (&R fmFl| £ 4. 460 ? ESFG 0.45 0.45 0.20f H1T | SUS 1 |? )| 33.656917 | 130. 784554
555 | B AR KAE S | £ 4,495 H22.3 FG(N 7JR) 1.25 1.25 1.56| H21 | SUS 1 [#aK )| 33. 656607 | 130. 784665
556 |KEE Bl £ 4.540 ? FG 0.30 0.30 0.09 ? | SUS 1 [? =011 33. 655865 | 130. 784964
557\t 2 HEKNEE Bl £ 4.690 ? FG 0.80 0.80 0.64] 7 | SUS 1 [? =011 33.654940 | 130. 785523
558 | REBEKEEE === 1T = 4.750( H26.3 J0-7429° G 1.40 1.40 1.96| H25 | SUS [HE FH) x1 | H25 |#%#0 1 [#%#0 ==110 33. 654598 | 130. 785986
559|) = SE—HEKbEE === 11 = 5.430| $60. 3 RG 2.25 2.25 5.061 S59 | SS [Zwo 4 (T2 4.5PS X1 | S59 |=VJ% 2 |1Ek )| 33.649153 | 130. 788586
560|) =56 —HEKEEE FF| &£ 5.590( $59.3 RG 2.00 2.00 4.000 S58 | SS [Zwo 3 | I 4.5PS X1 | S58 |=VJ 4% 2 |EoH Al 33.647770 | 130. 789080
561|) I IEHEKEEE === 11 = 5.770| S48.3 SG 0.80 0.80 0.64| S47 | SS [Zwvo IE=2 VIR L x1 | S60 |=VJH 1 [? Al 33.646315 | 130. 790031
562|)I= 56 3 HEKEEE | £ 6.430] H26.3 RG 2.00 2.00 4,000 H25 | SS |Z5w o 2 |EBENEEAT) | 0.28KW X1 | H25 [ 1 |BERk =011 33. 640952 | 130. 793091
563|)IEHEKEEE | £ 7.250 ? SG 0. 60 0. 60 0.36] H1 SS 12wy 1 |FE VIR LE X1 ? |2 1 |? )| 33.633728 | 130.793011
ho4|EIsERRE === 11 = 7.380| S56.3 SG 0. 60 0. 60 0.36] S55 | SS |Zwv o 1 |F& VIR LE x1 | Shh |EH 1 |#& )| 33.632685 | 130. 792920
565|EH 2 SHEKEEE === 11 = 7.735] S61.3 SG 1.50 1.50 2.251 S60 | SS |Zowv o 3 |EBEI(EEAM) | 1.15KW x1 | H19 |7EER I EVES )| 33.629439 | 130. 793049
566|FHEE 4 HEKEEE BTl £ 8. 005 S63.2 SG 0.80 0.80 0.64| S62 | SS |Zwv o 2 |F&E R X1 | H12 |& I EVES )| 33.627066 | 130.793279
567|EBHEE | £ 8.280[ S61.3 SG 1.20 1.20 1.44] S60 | SS |Z5wvo 2 |F&E R x1 | H19 |1##0 I EVES )| 33.624352 | 130. 794256
568 | NI EHEKEEE fmFl| £ 8.585[ H2.3 RG 2.50 2.50 6. 25| H1 SS 12wy 5 |[ZToYY 3.0PS X1 H1 |P5H 2 |PaH ==110 33.621948 | 130. 794382
569| 2 LZHEKEEE === 11 = 8.967| H3.3 SG 1.75 1.50 2.63]| H2 | SS [ZwD 3 |FH MR X1 H |=V% 1 |#& )| 33.618478 | 130. 793440
570|595/ HEKEEE 40 | & 0.245| $63.2 SG 0.70 0.70 0.49) S62 | SS |Zowv o 1 |ZF& MR x1 | S62 |=TVJH I EVES )| 33.670781 | 130.800112
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571|958 5 HEKEEE w4l | A 0.510f H30.5 — FG 1.25 1.25 1.56| H30 [ SUS 1 [0 — =211 33.671112 | 130. 802704
5T72| P58 3 HEKEEE w4l | A 0.770] S62.1 — FG 1.00 1.00 1.00] S61 [ SUS 1 [i#%#0 — =)0 33.671380 | 130. 805356
573 | PIHEKEEE w4l | A 0.950( S$53.3 — RG 2.00 2.00 4,000 S52 | SS [Zwo 2 |ToYY 4.5PS X1 | S52 |=VJ% 1 |1=2V% — =)0 33.671564 | 130.807563
574 5P95E 2 HEKERE w4l | A 1.135| S46.3 | S61.3 SG 2.00 2.50 5.001 S45 | SS [Zwo 5 |[ToYY 4.5PS x1 | S60 |P5H Y EYEARYEAR::N 33.670644 | 130.809042
YREEERRSD S w4l | A 1.330] H22.3 — FG 1.10 1.20 1.32| H21 | SUS 1 [k — /Il 33.669157 | 130.810148
16| EEE 2 SHEE w4l | & 1.425] S61.12 — SG 1.00 1.30 1.30f S61 | SS [Z5wvo 2 |F&E R X1 | S61 |P5H 1 |RE — /Il 33.668330 | 130.810524
577\ IHEKEEE w4l | A 1.635] S49.3 | H13.3 SG 1.00 1.00 1.00] S48 [ SS |=2wv o 2 |F&E MR x1 | H12 |1EF 1 |? AXH =11 33.666397 | 130.811613
578| F B KRS 4 | & 2.635| H7.10 — RG 2.00 2.00 4.000 H7T | SS [Zwvo 3 |& 0. 43KW X1 H7 |P5H 1 |FaH — =211 33.669391 | 130.819798
579 BEE)HEKEES w4l | A 2.935] H11.7 — RG 3.60 3.10 11.16] H11 | SS [Zwv D 5 |& 0.4KW x2 | H11 (& 2 |EE — =)0 33.668515 | 130. 822952
580|) 1| A RHEKEEE w4l | A 3.595| S57.3 | H13.3 SG 1.50 1.50 2.25[ S56 | SS |ow o 3 |FH R x1 | H12 |=V% 1 [#L =4 | #ll 33.665817 | 130. 828720
581 | RMEHEKEEE w4l | A 3.795] H30.5 — FG 0. 60 0. 60 0.36] H30 | SUS 1 [i#%#0 — =)0 33.666371 | 130.830632
582 | FEEHEKIEE 4l | B 3.918| H30.5 — FG 0. 60 0. 60 0.36] H30 | SUS 1 [0 — ==110 33.666709 | 130.831889
583 | EEHEKIEE 0 | & 0.010| H25.3 — FG 0.90 0.90 0.81| H24 | SUS 1 B — )| 33.669869 | 130. 798114
584 |t A IEHE KRS w4l | & 0.715 ? H18. 3 FG 0.80 0.80 0. 64| H17 | SUS 1 [? 25 )| 33.670918 | 130. 804835
585 | A HEKEEE 0 | & 0.810] H2.2 — FG 1.00 1.00 1.001 H1 [ SUS 1 |#& — )| 33.671039 | 130. 805791
586| B iE#REE 2 HEKNES w4l | & 1.425) S63.3 | H19.3 FG 0.60 0. 60 0.36] H18 | SUS 1 |50 |Z2E )| 33.668201 | 130.810048
587| B iEmHE KBS £320)| y. 1.720 H24.2 — FG 1.50 1.50 2. 25| H23 | SUS 1 [i#H#0 — Al 33.665612 | 130.811510
H88|EEE 3 HEKEEE w4l | & 2.410] H20.2 — SG 1.00 1.50 1.50{ H19 | SS [Zwv o 3 |EE(EERT) 0.6KW x1 | H19 |7&ER 1 |[E$ — =011 33.668142 | 130. 817665
589 | RTRBEKEEE 4l | & 3.495| S62.2 — SG 0. 60 0. 60 0.36] S61 | SS [Zwvo IES2 MR x1 | S61 |FaHE 1 |#& — )| 33. 665208 | 130. 827590
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